October 05, 2016

?ram—fs

=5 =1/
’F}W‘fuﬁ

Q/‘?(/Lra-clc ?/o&‘)[S
[_.fj/lca,g Ofa(ﬁ.(;
’/("”“‘L"S sense

'T—V\)o - Colurﬂﬂ

Y, )usHﬁ(wﬁon

Solve ‘C‘”,’f When Lx=S=11

/ Z)<—5:// /. j;'ven

45 5
7. 2x =/6 \Z. Rédtion (5)
“7 2

) Division (2)

F\‘l 3&[0V‘a,"c Pf,ﬂpu‘ll‘l;_s o{‘%ua}dy

ok, o are real anndass ST

.IFO\_—— lb then c+C=bic
A dditon ,:wpboF =
W o=b Hun a-c =b—c
* Suwetvaction ?ro{)ff =
'\G q_:\o then ac ":“’C
W) wlHipliation pmpo’f =
Division o of =

/RC'F(,L)GVQ, ’f)f‘r)}D A4 :'
(éruyﬂ.,'ny Js a_7ua]+a I'DLS'df)
a =& _
5 Mer‘l‘\/l'G W/DF”F -
/ Tf a=b then b=
Tvansitive Yeop o6 =
j'_‘fa’:\” ond b=C then 2=C

Substitubion TRop I =

If c;:b, +ten b can

loe v—LP\aawf bﬂ a WiyareVes,
b appers _
@,’54«/5}4’1'0\0 //%PP of =

if o (bie) then abt ot

(¢ abtac thin a(bze)




October 05, 2016

Solve fo X whan 3x1/2= Ex - 1§

[ _gng’?-:g%(—//S’ I given
CZ //% = 5}(_:/? 2 Shlo‘)'vac]l/lmfrqpof:é))'
=Gy |3 Addition prop o =(8)
2=tk

y ¢ =% Y Divjsion 00 %= 05)

24

Giventna 2—7!4.&-.((;\,\ =zt ~ (
solve ‘Fo—; C

24 .
= e -/ . ven
[ G- 4 /7

(
S sy (5| 2. Additieprop (1)

: - ]
(3. 521%[& = i’gﬁ 2 M"-H’v,ﬂh[a'ﬁh\-};fop-'(/

atl) _ ¢ 4. Dwis/om R/o(—’{l‘/)
s

3 (2= —4> —b=Za + 7

1.3(2z-4)-6=2z+7 1. Given

2. 62-12-6=22+7 2. Distribution Prop of =

3. 62z-18=22+7 3. Simplify like terms
4.47-18=7 4. Subtraction Prop of = (2z)
5.4z = 25 5. Addition Prop of = (18)

6. z=6.25 6. Division Prop of = (4)

/Rop.wh;s oF {%u4’(¥7
Seﬂi\rwu\-l' ,C)nj(&
Roftive AB=AR  miA=meA

. 6 2B METS
p=cD '
59mmm‘wc,£: it mdd? nlf
£F W mlA :Mlﬁ,méé—’nlf

L, =(D)Cn=
Transikie (( ﬁ%DCZ)EDF than mlA=mlC

A= 30’, mld=mlR

w L3 =30° 7:_:41_1'-['/1.5'(—




October 05, 2016

C
A ] o
5"'1""‘”‘* ocllitiar
wen

9’5—+—B¢—HC\ élvu\

2
"—’—’_7‘_.—.
r|<5 +ST = RSES/ T cddihon

ﬁﬁ-{—ﬁ(. = R_S-{—ST s,,lpﬂ['l’m.hlm\

.-vlr\ mi2 :M-LS

J

Prove
Ll =4

Z/, L2 art Comr),lnul—v\.'(ﬁ-v :dﬂfﬂ;ccﬂf
Z} Ll/a.r{ Cphfl mn u] G(ﬂPO'F [0'4?

Z'L 7"’14’} 4 70‘)“"’[‘:&,-},”\
L2 =70 ml3+mli4=
wll 23 =90° miG4mlY=90 ¥ 5wl shfution

ZU'”"?” rls méY = 10. mz3.{ub+r4c},,n

mZ1 = mLY a1 hveppet LS

P97 - /0]
2 -39 even




